EARAZROREIERT — 2 N—XBISY —F 2013518308 (k) 12M@)I[IE3H

m#3%4ﬁ 5 100AX%XH ‘ [Xfg] B ‘ [EmhE] — | % () 14000 FE
[AE4£] 17 :800,000 3 ~ 23%&:240,000  ~ 33#&:144,000 @  47#&:96,000 3 ~ 5 37 :80,000
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 4| VIA=XEV Y b Ho4 ?g%g%t 1:(3_3).5 8-8-5-5 |40.4| — | 3 (5_515) ig%i (1)
v —NFZAYLF— B:yaEr Ya—T7—ALA
N BEHB :33. ~5-4- . — gz (11I&
2 3 J4+—Fa1>0— i d 56.0 (17/39375) 4545 140.6 4 (4:342) LOEF
L—A7Oo— B:g2—TJhLTv— =i =
3 ) SrFELHTYT 4 4 gﬁgf?}z&%ﬂli 1(73?:§; 1-1-1-1 | 41.3| — 1 :?g) ;ﬁ;gz_mmﬁ)
L7772 8A749 774 8 B2 7onNd0E WS
=, _ 3 i 4 | SEEK 1:33.6 3-3-1-2 |41.3| — 2 489 | RithRE (/11i6)
4171717 —=F 54.0 (7€) (o) | A ERER
R:x¥/ by THY B:JU—-beNITF AR EEB
N S BN :33. —4-6- . — I S )
50111 Ty TINAF o4 54.0 (11313/29) Sraed 1409 ! (4_217) l\“»f;r? (#%)
RFq—TALNT N BT UTRNAF =T r—1I
. N N R Ll Bt £ :34. -7-8- . - s (g
6l 6| NNVEZRNIL—2 G 1 (314)1 [ 6 ?f; (B) ALES FT 7L
L:2=—/XLLy b B:IRELTYT NIVELRT7—L4
N N o REBA : -0-1- - 2R (JINE)
71505 TV =2 2F A 18— o4 R 1.(334).7 2-2-1-3 | 42.4 5 (4::33) s (
REATLAE— Bov A2 -4 S e
5N FRBZ : -9-8— — NAAZ (1)
glglg| Ko H¥F>TUA i 4 o 1.(335).3 10-9-8-9 | 41.2 8 &7) o
LT RIAY K> Biko¥risv— BEKT 7 —L
. KEH :35. -10-10- . — BEH— (I
9810 Ty =T =2 4 4 5450 1(335)9 9-10-10-10 | 41.2 10 :()39) endo
L:rh—r BT H— [z el
oS " AHEAEE :36. ~6-6— . = AKAZ (1)
10/ 7| 8 NE—TLXF1 b i 54.0 1(33/64)1 6667 4.1 o (4_836) [N == -
R:TSv k-0 Bi¥viTFRFA b B4R
® 1—F—@EBIERL
1T=7r= 2,5,7,3,1,8,6,4,10,9
2a=5F= 2,5,7,1,3,8,6,4,9,10
§a=7r= (2,5,7),3,4,(1,8),(6,9),10
43—+ — 2,7,5,1,(3,4),(6,8),9,10
[ /N
B 4 360M 714K 3-4 450M e E 3-4 1,940 JEE 2-3-4 930F
B B 4 1204 2-4 1504 e B 4-3 2,320M JEE 4-3-2 9,790
3 1609 2-3 340M B & 3-4 1,780
2 1009 B H 4-3 4,060

ABICOVWTRDTEEERROODE. TR LIV,



